AIEEE (Architecture) 2008

Part 1/ @I 1
Mathematics / TITOTH

1. Let f:(1,«)—[1,=) bedefined by 1. HA £:(L, ) - [1,2) 59 ¥R oo # R
fix) = X+E_Then ﬂx}=x+2. r
x—-1 x=-1
(1) [ iz one-one and onto Q I i AT s %
(2) f is one-one but not onto @ f Q’:E'ﬂﬁ 3 e o i

{37 T isnot one-one but onto

(3) 1, T T & W AORS §
(4) f @ wE & A § T ¢

(4} [ iz neither one-one nor onto

2, Let A=slx.v):x=0, y>0, x2+y2=ll and

letB=lx,v):x>0, y=0, xﬁ+y5515. Z. o A= v):x>0 y>0, x2+y2=1] G|
Then AN B = o Bellx,y)ix>0, y>0, x®+y <1,

1 A TANB=

(2] B ' (1 A

{3y ¢ (the empty sot) 2 B

(4) {00, 1), (1, 00 ) ¢ (e wg=)

(4) {0, 1), (1, 0%
3 Let % be # complex number such that l Z|=2

Then the maximwm  possible  walue  of 5. T 7 uE wy gen g SR W 3 g !Z| _ 5 A

| 7 y . i
|’¢+'§ " iZ«x% H HfyFan o O §
1y 1 1
@ 2] 2
o % 3y 3
i (47 4
4, The number of solutions of the equation

2 -
T = —2=0
xzu4|x|_g=gis 4. X 4lxi 2=0 Eﬁfi&ﬂﬂ?

{1 1 (1 1

2] 2 2y 2
(3 3 (3 3
i4) 4 (4) 4
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1 1 0
Let A=|0 1 0|, and let T dencte

0 0 1
the 3 x 4 identity matrix. Then 2A% — A3 =

(1) A+T
2y A-1
3y I-A

(4 A

Let A = [ai-] be a 3 x 3 matrix whose
determinant is 5. Then the determinant of the
matrix B=[2""/ ai_]-l 1

(1) B
(2) 10
(3) 20

(4} 40

A school awarded 38 medals in football, 15 in
basketball and 20 in cricket. Suppose these
medals went to a total of 58 students and only
three students got medals in all three sports. If
only 5 students got medals in football and
basketball, then the number of medals received
in exactly two of the three sports is

1 1 o0

TMA=|0 1 O THEAMIL3x3®
0o 0 1

s weE | A 2aZ-a%=

(1) A+I

(2) A-1I

(3) I-A

(4] A

T A= (o] TF 3 x 3 A § R w5 ¥
A IR B={25'jaij] =7 " 2

(1y 5
(2) 10

(3) 20

(41 40

wF famrer % gedld % fau 28 dew, W & oy
15 @41 frke % faw 20 dea famfm few 1w &4
58 Fornfadl %1 48 fea e war e e fefEE #
A S ¥ fow dew fae 1 afR S 5 et @
geatel 9U AeReate § Hew e, @ 3 @ @
T o 8§ § 9% 9 G T dew e, €

(L 7
(7
2 9
2y 9
(3 11
(3 11
{4 13
(4) 13
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8.  Let A be a set containing ten elements. Then the |8, WMl #ead A % €0 3979 & | & Fm-3-mn =n
number of subsets of A containing at least four ST At A% i 2 e &
elements is i ?
(1) 845 (1) B45
(2} 848 (2) B48
(3) 850 (3) B850
4) 854 {4) 854

9. The remainder when 7'%° is divided by 10 is

9. R 7' % 10 F Fowfem fen s, & 9w @
(1 1
(1 1
{2) 3
(2) 8
3 7
3 7
i4) 9
4 9
10. The value of the sum
B 1 8
3 10, FrTHE - F AH
o » 2 G+1(+2) [s] :
Li (+D(G+2 | §=0
J&n
. 1y 1003
1003 2
{1 —
a0
@) 1013
90
@ 1013
a0
@ L8
S0
3) 1023
a0
(4) 1033
20
@
80
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1. Let f:[0, =) - [0, =) be given by 1L FF1 F:[0, ) =10, ) 39 ¥&R v # &
10 10
ftx) = E X If () denotes the derivative of fix) = 2 X gfe ), ) W sEEe 2, @
i=l ' i=1 4
fi-}, then the value of lm T -10 im Fx)-10 FOAT &
Sy | =1 | x—-1
(1) 35 (1y 35
(2) 40 {2y 40
(3) 45 (3 45
(4) &6 {(4) 55
12. The value of the sum 20 4 1 3 1
20 12. Wzi[—+,—-—+_——+ +—| W
25[14_.?,“+__1_+ +_1_] . i i+l i+2 20
w n - e |:-1
i i+1 1+2 20
f=1 o= i
ig
(1) 100 (1) 100
{2} 1056 2y 105
(8 110 (3 110
4y 115
(4 115
13. The cquation 4x” + 5x' — 10x” - 20x + 40 = 0
has 13. TR 4x® 4 5x% - 10x° - 20x + 40=0 3
(1) no real root (1 #mﬁqﬁi
(2) exactly one real root @ @ wE s 1]_*_?[%
(3)  exactly three real roots
(8) el d amfas g@ &
(4} five real roots ~
(4) g T g
14, Let 1 {—ee, =) 5 (—es, =) be a continuous and
differentiable function and let f'(-) denote the [14. T f: (—oo =) = (-, o) UH T FA
derivative of fl-). If fi0)=—2 and F(x)<3, for NEFEH WA # A W), fl) W s # )
each x ¢ [0, 2], then the largest possible value of e fiD)=-2 70 T 4F x e [0,2] & 0 fix) <3,
A2) is Al f2) 1 ftmay g 5 2
(1) 1 (1 1
2y 2 (2 2
H 3 (3 3
(4} 4 (4 4
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15,

17.

Let f:]-1, 2} — (—e=, e} be given by

_x" +8%x%+1

x4 41

fix) =

Then the mmxaimum pessible value of fi-} on
-1, 2] is

(1

et

(23 =l
5
(3) 'itl
]
(4) zfﬂ
H ]

Let f: (===, ) {—o e} be given by
ﬂxir:x|ki r|x-1|--l:-2ii+ix—3ia.

If A denotes the sel of points where fl-) is nof
differentinble, then A =

(n i3
2y 1l
{3y {0
4 12

Let fi-) and gi-) be differentiable functions on
(=, oe) und lot £+ and g{-} denote derivatives
of fis) and gle), respectively, If fl0)) = ~;— , B = Eli-'
M"0)=1 and g0 =2, then the valueof

16. HF f:[=1,2] > (-, =) Y8 SR fem & fis

16.

17.

x* +9x% 41

x2+1

W (-1, 2] | {-) T Hfirsany dve 39 #

fix) =

@ 1
@) %
@) 351
@ =

A 2 (= oo, 00) = (= o=, =) T8 WL focmn ey & fi
ﬂx}-x|x|+|:-1[-fx-2lz+fx-—3|=.

M A Fge & wgem @ oo d, W@ )
m#t.ﬁﬂ.-

(1) 13l
2
(3) 10l
(4 {2

WA =) TN (o), (— oo, 00) W GG Foe §,
WA () G g'(s) WEEE f-) T gi-) ¥ @S

19 RO)= _;_ £(0) = %,f‘m)=laﬂlg’m}=2.

2
A lim 2f(2x" +3x) -1

2f2x® + 3x) -1 & A #
Ty, e S = i
x:_.n Jgixi~1 e )1
18 1
i 1 (@
1
1 2y =
9 s
@ 2
1
i ! 3r =
(3}
3 3
1
1 4 =~
(4)
3 4
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18. The value of

1

1
18. jx“u-:;“dx

szu-xaﬂ.ﬂx 2
5
is 9 ¢
$ 1
) w= g
1 1
@ = @ o5
- 1
® w0 ® =5
1 1
W = @
19. Let y=flx) bea curve which passes through
(3, 1) and is such that normal at any point on it [19. T y = flx) &5 3% 2 i (3, 1) § &% 0 & 701 ¢§
passes through (1, 1). Then y = flx) desecribes wrow b B oy fed frg w sfwena, fig
(1) acircle of area= (1, DR IR 2 1 Ay =fix) i wwd
(2) an ellipse of area 2x (1) W% 30 79 5 foos 87% « 2
= o
(3  an ellipse of area 3n (2) T 3| qigm BT 2x 8
(3) & IW drfgm it fomm awer 3n 2
(4} acircle of area 4n )
(4) TS TW g B R ST 4n
20. Tﬁem&ﬁmumvnlueuflx+yl,whem‘[x.y}ﬁun |x+y| B sfwwm m, 9 )
on the ellipse 4x° + y> = 4 is i il i
26 25
= =
2 5 2 5
V6 (3) 5
@ :
4 3 @ 3
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21. Two vertices of a triangle are (1, 1) and (3, 4), and |21. U% fqs & 2 9if (1, 1) 790 (3, 4) § o d o,
the third vertex lies on the line y = x + 1. If the W oy=x+1 W figm 8 1 AR W e = dawe
area of this triangle is 1, then the third vertex of &, W e ® o i @
the triangle is

(1) (3,4)
) G (2) (4,5)
2 @5 (3) (5,6
(3) (5.6) 4y (6,7
(4). (6,7
22. T SFE 4x® + y° = 16 TN vReW fRU M0 U A
ETFT AR I WA=

22. Let A be the area of square circumscribed by the 61
ellipse 4x° + y* = 16. Then A= (1) 5
(1) E

5 9 62
(2) 5
62
(2) —
5 =
5
63
{3) —
5 4 64
(4) z
64
Y
(4) 5
23. Afe s 16x° - 9y% = 144 F 0F B (x,, v,

23. If the line 4417 x — 3y = 48 is a tangent to the o 9 y
hyperbola 16x” — 9y% = 144 at the point (xy, y,) ARAST - Sy m M SR T 7~
on the hyperbola, then xﬁ ¥ y'g = 167

15
{1) =
(1) %’3
- ® =
(2) —
16
165 (3) 169
Y
(3} T 16
170
1 170
* LR
16 (4) T
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24, The shortest distance between the circles 24, FA R +y =170 (x-9° + (y- 127 =4 & 781
+y°=1and (x-9"+(y—12° =4 is =gem gl £
(1) 9 W
(2 11
2
il (3 12
3 12 4y 14
4y 14
95, T
25. The radius of the sphere (x—1+ V3)(x=1—-+2)+
1+ 21x-1-2)+ G i SE Y L= BN
= Y A =T =48
v ; e J-}"- (z_1+-.,||r§}{z-1-\|"§f|—_-{]
(z—14+ B5)z-1—4+5)=0
, % frem #
15
(n 2
1 2
(i 2 2 3
(3) 5 (4 10
(4) 10 .
26, U fase ABC #, ' A, B 741 C % WM FAWE 30°,
26. In a triangle ABC, measures of angles A, B and C 105° 791 45° ¥ | 3% A ABC F T35 g 0 ¢ @
are 50°. 105° and 45°, respectively. If O is the 0OA
orthocentre of triangle ABC, then % = 0C
- J6
@ 8 W
2
; NE]
o B o &
a2
J2 @ 2
3)
( 2 9
4) 2 @ V2
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27. Let X, ¥ and z beunitvectorssuchthat |27. W X, ¥ @0 7 A oRUI W WA S ¥ 5
|2 -¥ P+|¥ -2 P+|2 =% P=0. | -7 B+ ¥ -7 P+]2-% [*=0.
Then|§}+?—?}2—4§'.?= T‘ﬁ'l;+;—?lz—4§}.}fﬁ
(1 2 {1y 2
w8 @ 8

28. The value of

4T 43 457 4T 28, mn“i 4--:::»3"ﬂ +1::c:m5|JIIE +m4'f_1:
cos” 2 + cos” == +cos” = + cos” = 8 8 8 8
is 3
{1y =
3 2
) 5 —
( 2
1
iy o
@ 1 g
2
2
1 1
- 4 —
@ 3 @ g
29. The value of sin%.sin?—:.sin% is
29, sin " .gin 2T gin I o
1 14 14 14
(1 =
1
1) =
@ < i
& 1
2 =
1 8
(3 -
9 1
3 g
(3] 5
1
(4) — 1
16 (4) 6
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30. Egquation of a common tangent (if it exists) to

+y’=2and Xy’ =1 is
(1) x+y=+2
(2) x+2y=2
3) x+y=2

4) x+2y=V2

Directions : Questions number 31-35 contain

Statement-1 and Statement-2. Of the four choices
given after the statements, choose the one that best

30.

x2+j?2:2 G x3y3=lﬂﬁm1mfiﬂ'f{ﬂf{
T e §) Wi

x+y=J§

(2) x+2y=2

(1)

(3) x+y=2

(4) x+2y= JE

9 : wvT 950 31 B 35 7% T ¥ A FH-1 T FEA2

# 1 3w & vvar Re v AR fawed 4 8 39 e
@ =TT & a o B ST IAT A FT 8

describes the two statements. SL  HFIf: (= o0, ) — (— o0, o) Fii7 5700 Wil
xs. gfe x>0
31. Let [:(~os, ss) = (= oo, =) be defined by fix) = i
3
x, fx>0 \ s 0
ﬂx:' i v > ¥ D QE =
0, f xs0 T A (), fl) F SEAEEA 1§

and let f'(-) denote the derivative of fl-), FE-1 -
Statement-1 : lim f{x) = £{0).
limﬂ f'(x) = £1(0). x—0
because
Statement-2 : T2
f'x) exists, for each x e (~ov, =), and f(x) is T x € (— oo, ) oMU (x) T ofeam €, o0 £(x)
continuous at 0. I W T 2
(1) Statement-1 is true, Statement-2 is true;

Statement-2 8 a correct explanation of

Statoment:l (1) F99-1 9 ¢, 3992 O & F-2, FF-1 R

o e @

(2) Statement-1 is true, Statement-2 is true;

Statement-2 is not a correct explanation of (2) 919 ¢, W2 TR G B2, I A

Statement-1 &% = 7 6
(3) Statement-1 is true, Statement-2 is false (3) F-173 ¢, w2 3w 2
(4) Statement-1 is false, Statement-2 is true (4) F9-1 A §, FEA-2 WA R
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32, Let f:[11,)—3(0,) be given by 82. HFT £:[11, e} = (0, ) TH YW & 7 # £
10 1 10 1
w=[] = =] =
=1 f=1
wl:lzre, for real numbers a;, a,, ..., a_, S A desi . ¥ fam 8,
H a, denotes the product a, xa,x .. xa . i=3
1=1 a; Xayx..xa_ % A & o & |
Statement-1 : HETT
10 Fi :
(=1) In|x =1 10 !
) dx= Y oL j‘ 1! In]x-1|
T 10D pags 3 Wil
fot il W= 2, oot e
because L
s
Statement-2 :
& 10 A, FYTL ; .
for x e [11, ), fix)= "—'-F 10 5
=1 x e [11, ) % oA ﬂx}zz -—’E
I=1
where A, = l_I Tk e e 4
1 =y’ @ A = 1=1,2 ..,10
o =11 g5 b A1
(1) Statement-1 is true, Statement-2 is true; 1
gﬁ:ﬁﬂgﬁt% is a correct explanation of (1) F9-1 9 &, s99-2 89 & F99-2, F-1 9
(2) Statement-1 is true, Statement-2 is true; dte = 2
Statement-2 is net a correct explanation of (2) FU9-1 W §, F99-2 O & F9H-2, FG-1 FH
Statement-1 ) =i T :_rﬁ‘%
@) SatementLisine Soement 2o | (g vt , w4
ol " " i (4) FUA-1 0 2, FOH-2 T 2
33. e directrix of a parabola is x + y = 2 and the :
l"ocusis(\f'5+1,\l'§+1}. & # ky=d ¢ o A
{JE + LA+ DRI
Statement-1 :
Length of the latus rectum is 6. FHL
s Y 7w - 6 R
Statement-2 ; if
The distanee of directrix from focus is 3. HET-D
(1) Statement-1 is true, Statement-2 is true; Fraar 2 2fy 2 et 3 21
St 2 1 i
ateme:nt:z 1s a correct explanation of (1) F99-1 T 2, -2 T & FET-2, w1 B
Statement-1 b B
{2) Statement-1 is true, Statement-2 is true; .
Statement-2 is not a correct explanation of - (2) W1 W E, -2 A G -2, -1 F
Statement-1 4% =mE Tt R
(3) Statement-1 is false, Statement-2 is false (3) FHF-1 G ¢, HI9-2 36T §
(4) Statement-1 is true, Statement-2 is false (4) Fa4-19F 2, FAA-2 ATH &
AlPage 12 SPACE FOR ROUGH WoRrk / T% &1 & fou wmme



34.  An urn contains four balls bearing numbers 1, 2, |34, % &% § d=W3i 1, 2, 3 99 123 w095 &l 9w 7S
3 and 123, res i 3 i ; : :
respectively. A Ii}all is drawn at ¥ owew ¥ U i awes Fet 0 T E,,
random from the urn. Let E;, i = 1, 2, 3, denote . 3 5 o 1 el T 8
the event that digil i appears on the ball drawn, 1= 1.2, Bedl o TS S
Statement-1 & 1
P(E, N Ey) = P(E, N Ep = P(E, N Eg)= . FeEy VB = BBy NVEg) » Py M Egim.
HifH
because
T2
Stetement-2 ; 1
P(E,) = P(E,) = P(E,) = ~ )= B =Pl = 3
i n BB e MRS =
i1} Statement-1 iz true, Statement-2 is true; (1) &9-1 5 ﬁ, FE-2 T %; F-2, F97-1 F
Statement-2 is a correct explanation of o = 8
Statement-1 @) FU-1 9 §, B2 O & F49-2, FO-1 A
(2) Statement-1 15 true, Statement-2 is true; = T
Statement-2 is nof a correct explanation of o i ¢
Statement-1 (3) F9-1 FWA §, FHA-2TF #
(3)  Statement-1 is falze, Statement-2 is true (4) FF-17 8, -2 375
i4) Statement-1 is true, Statement-2 is false 85. T f:(~s0, 00} > (—oo,00) THHELE & M) Y=
85. Let [ (—es, oo} —3 (—oo, =) be such that f) is T H # A f(x+yJ _ f=) + £ly)
continuous at 0 and let 2 2
r(x+}r] AW e oy o T X, y € (—oo, 00) F AT |
2 2 ’ Kt ;- FgF1
Statement-1 : fle), (= oo, o) % Wl forg W W € |
fi+) is continuous at every'point on (— es, sa), il
because
Staiement-2 : 2
2 fix + h) + fl0) = 2 fix) + fizh), TF x, h € (— oo, o) % foTT
for every %, h & (—ee, =), Zflx +h) + ) = 2 flx) + 62h).
(1) Statement-1 is true, Statement-2 is true;
Statement-2 is a correct explanation of (1) =99-1 99 ¢, F99-2 99 & F99-2, F9-1 =1
Statement-1 j : i
_ 3% = 2
(2) Statement-1 is true, Statement-2 iz truoe:
gtatement—z is rot a correct explanation of (2) 9-1 99 &, F99-2 99 'ﬁ; FF-2, FYA-1 F
ta - .
tement-1 St = T 2
(3)  Statementi-1 is false, Statement-2 is true
i4}  Statement-1 is true, Statement-2 iz false Wy %’ AN %
(4) =UA-19T 8, F97-2 3T ¢
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Part IT / 90T I
Aptitude Test / A(qwlA TLHEwT

Directions : (For §. 36 to 40). 3-D problem figure shows the view of an object. Identify the correet lop view
from amongst the answer figures.

T ; (X, 36 @40 & Torw) 1 3-D ¥97 Fla 4 U T F 7v9 F foq@rwm T & | T w5 S0 §v IW A 4 7

qEIT |
Problem Figure | 97 ST ' Answer Figures | 3T S
36. —I _I __I
[ [ N (s
(1) (2) (3) )

- & A 444
SN ==

(1) {2) (3) (4)

- B EBE
”' alslels

(1) {2) (3) (4)
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. Directions : (For Q. 41 to 45). 3-D problem figure shows the view of an object. Identify the correct front
view, from amongst the answer figures, looking in the direction _nf the arrow.

f29r : (8. 41 R 45 & W) 1 3-D 597 wmafa & vs g5 % gvd & fary mr € | o @ fwr § Zwd gu, e 9d
G ¢ F IR A T § TG

Problem Figure | 597 30F0T Answer Figures | 3 Sraioa
—
41- E ﬂ
b ™
(1) (2) (3) (4)
1 ] == I
42,
| |
=
-~ (1) (2) (8) (4)
43' @
/ (1) (2) (3) (4}
: @ AN N4 [
: r
/ (1) (2) (a) (4)
. @ T O ==l
™ (1) (%) (3) (4)
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Directions : (For Q. 46 to 48). Identify the correct 3-D fisure from amongst the answer figures, which has
the elevation, as given in the problem figure on the left.

FE¥T : (9. 46 R 48 & Fr@) | o F § § 39 W 9-D wHhT 7 L, foww oy vy @t o F W v
ST S &

Problem Figure | 597 33fq Answer Figures | 360 s@taa
o B & & & &
(1 (2} (3 i4)
= o e 9@ @
(n (2) {3 4]

« B ¢ @ @

(2) (3 (4)

Directions : (For Q. 49). Identify the 3-D figure from the answer figures, wihich does not have the same
elevation, as given in the problem figure on the left, looking in the direction of arrow,

e : (3. 49 & o) | 3 a7FE F @ 59 3-D F W wE, Il ST & N 3@ §7 WO g, @l e &

T I AEa 9 T e B
Problern Figure | 597 31#d Answer Figures | 3T siafom
!‘l"

(4}

Directions : (For Q. 50). Problem figure shows top view of an object. Identify the vorrect elevation, from
amongst the answer figures.

Fder : (5. 50 & Terq) | w7 sl 4 (ol avg @ W qva femn v @ | I s A & weew o g 7vd
UEEY |

Problem Figure | 5979 3T Answer Figures | 3w sTgtrar
(1) {2) i3 (4}

AfPage 16 SPACE FOR ROUGH WORK / T & & Tou sTg



Directions : (For Q. 51). Which one of the answer figures will complete the sequence of the problem

figures 2
3T : (9. 51 & FT0) | 3 STFT 5 @ Fadl SPT H 977 SWHAA F T T T SGF (sequence) T & FTW 7
_ Problem Figures | Y97 3iafrar Answer Figures | 3t STgHaal

ey (2) (3) “)

. Directions : (For Q. 52 to 54). 3-D problerﬁ ﬁngre, on opening up will look like which answer figure ?
&Y : (9. 52 @ 54 & o7@) 1 3-D 5v7 313ld F Gerd W, Fw, I AFT 6 f@h 7

Problem Figure | %7 3&HT Answer Figures | 3R 3@laal

. y

]

oy o

il
LI 1

|

[ 1
1

I

LL
L]

bIL11-1

[T 11

1

53. @ : Q [/r}

—~
~—
—
B
~
—_
w

)

=
S

[[1]
L T1T]
| [1T]
P 11

LI
LI

=LA

~
—
S

fet

2

~~
~—
~

3

[ 1]
| 1]
[ [T ]]

l

“ & oM MEM M o

(1) (2) . (3) (4)
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Directions : (For Q. 55 to 59). Fi "
Rt ﬁgmg ). Find out the total number of surfaces of the object given below, in the

9 : (9. 55 §@ 59 & forQ) | yv7 Pl 4 Hi9 §1 7 awg 7 wawl B g GG Fa Fg |

Problem Figure | 5¥7 3@d

(§)) 10
Ce (2) 9
(3) 8
(4) 5
(1) 20
2) 21
56. (3) 22
(4) 23
(1) 20
(2) 17
57. 3 15
(4) 19
(1) 20
(2) 22
58. (3) 24
(4) 18
(1) 13
(2) 14
59.
(4) 16

A
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Directions : (For §. 60 fo 62). One of the following answer figures is hidden in the problem figure, in the
same size and direction. Select the correct figure,

29T : (W, 60 § 62 & forw) | 19 o T IT AHOA § § TF ST WG H fGw0 A T w9 F 5v7 9w 4 o g7
g 1 we srFly B g 0

Problem Figure | 577 S0 Answer Figures | S gfia
0. W =/ { Q
(1) (2) (3) (4

=1 = v I G
Y 7 " @ ® i

AN =
(1) (2} (3

(4]

Directions : (For §. 63). Some figures are given in the problem figure. After assembling them, which figure
will be formed, from amongst the answer figures ¢

9T : (W, 63 & Torw) | ¥77 a7 F Fo AFiod & gF & 1 v WA W IW AFd § |/ FAe gl 7 S 7

Problem Figure | 399 Ji$fd Answer Figures | 307 #0490
VA 2
e @ B & &
63. (N1 a)
(™ » O G &
(1) (2] (3} (4)
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Directions : (For Q. 64 and 65). How many total number of triangles are there in the problem figure given
below 2 '

&7 : (N, 64 790 65 & forw) | A9 7 FoT amgla ¥ Byl & gar G faa 8 2
Problem Figure | 577 3

(1) 10
(2 14
o (3) 16
(4 21
(1 9
(2y 12
65.
(3 13
(4 15

Directions : (For Q. 66). How many tofal number of rectangles are there in the problem figure given
below ¥

e & (7, 66 & forg) | A7 < 78 v sl & syget B o wEw Frd & 7
Problem Figure | 577 #fa

(1} 14

t4) 16
6.

(33 18

(4) 20

Directions : (For Q. 67). How many total number of semi-circles are there in the problem figure given
below 7

Q9 : (5. 67 & fo10) 1 19 & wv sy st @ go wew At 8 7
Problem Figure | 57 3r@id
- (1 10
67.
3y 8
;Qv @ 7
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Directions : (For Q. 68 to 70). Which one of the answer figures is the correct mirror image of the given
problem figure about the axis XX |

B2 : (3. 68 § 70 & forw) | 37 smgleral 4 & Fivat swgly & T v s XX 3w & wEl qyol wfam € 7

Problem Figure | ¥ S#ld Answer Figures | 07 sTgiaal
X

68. / /

(1) {2) (3] (4)

N
/T

69. \
X (1) (2) (3) (4)
X

70,
5 (1 (2) (3) (4)
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7L

72,

73,

T4,

T5.

Which of the foli:;wing musicians is from an
architectural background ?

{1) Remo Fernandes
(2) Baba Sehgal
(1) Bhappi Lahiri

(4) Apache Indian

Petronas Twin Towers are located in
(1) China

(2} Malaysia

i3)  South Africa

i4) India

Which person is famous for the extensive
brickwork in Kerala ?

(1) Lauri Baker

(2) Hafeez Contractor
(3) Charles Correa

(4) Achyvut Kanvinde

Which city is based on sector planning ?
(1) Patna

(2) Chandigarh

(3) FKolkata

(4] Pune

Natural shadowless light is available from which
direction 7

T1.

73.

74.

75,

frafafags 8 & St Wiver agme & gEh

wmat?

(1) T wEE
(2) =@ wE
(3) Wil o

(4) s Sfema

W fomm zrad fiem 2
(1) = H

(2) wafwn §

(3) afqor aTeiw |

(4) wmAd

e fz 3 i fafam @ 3W 0 @ ShA =6
ez @ ?

(1) @I

(2) T FEE

(3) e B

(4) A AT

T e qR @ W sEiE 2
(1) "z

2 «=EE

(3)  leTeHT

@
fa= o % s vy R e A sy # 0

(1} South (1) =hgor =

(2) Nuth-West {2-} m_'qﬁaq‘ ﬁ

(3) East (3 TR

{(4) North (4) TWH
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76.

7.

78.

79,

80.

Energy efficiency in buildings cannot be
achieved by one of the following :

(1} Insulated roof

(2} Building orientation

(3} Using glass on the western face
{4) Using locally availahle materials

Delhi is getting ready to host which of the
following events in 2010 ?

(1} Asiad Games

(2} Olympics

(3} Commonwealth Games
{4) SAARC Games

Which finish imparts a glossy look to walls ?
(1) Plaster

(2} Distemper

(3) 0Oil Paini

(4) Lime wash

Pentagon is

(1}  the afﬁciaf residence of the Prime Minister
of England

(2) the official residence of the President of
the United States of America

(3) the headquarters of the Department of
Defence of Japan

(4) the headquarters of the Department of
Defence of the United States of America

Which one of the following is nof a renewable
energy sourecs 7

(1) Wind Power
(2) Solar Power
(3) Fossil Fuels
(4] Tidal Waves

6.

7.

T8,

80.

ARG Foi-ea FrefdfEa § & fed v O ol
e 1= o

(1) faga-Od oo &

(2) FHRE e

(3) WY wow Y H WA S
(4) et Iume vl % w9 §

fewedt, 2010 # ffafen fee @@ wER & dear
T F A W@ E ?

(1) vferEe BF

(2), e g

(3) TEdEw @

(4) WE TH

o =g @t w & Grar =R feard 3§ 2
(1) Te%H
(2) femmm
(3) =2

(4) 0 g

ferr &

(1) %5 & 799 55 & S fEw

(2) =Y ToT e & npefa @ s fram
(3) 9 & qe a1 g

(4) mwﬁﬁmﬁ;wﬁmrﬁw
Fefefas 4 & s 39 F1 wdewis v 7@ & 2
(1) =g i

(2) @ wfw

(8) efteryd o

(4) AR w0
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81. Which city is known as ‘City of Canals’? 81, g vt W el 1 YU wwd € 7
(1) London (1) o=
(2) Rome (2) W
{37  Venice (3) I\
(4) Barcelona (4) =EErET
82. What is the fanction of Victoria Terminus | g Sfiy fafean fia rd 2 i ol & 2
building ?
(1}  Museum () e
(2) Palace (2) "
{3) Railway Station (3) Al
{4) Airport (4) T T
83. Plaster of Paris is used for 83, el % UfE w1 3w g #
(1) Structural frame (1) H=e 2 o
{2) False work over walls/ceiling (2)  SrEri/Ea v fren &0 H
{3) Flooring and roofing (3) wof 2t wa
(4) Load bearing walls PPIRE— S g S
84. Which is best used as 3 sound absorbing 84, @i vEY wi-smEvim & fou, faaee e § wd
material in partition walls ? o i R e
(1) Steel i
(2} Glass-wool @ e
(3) (lass pieces (3) = FTHe
(4) Stone chips (4) TR & gﬁ%
85. Which does not form part of Reinforced Cement 85. Efad dite SET (RCC) ¥ fimor § Fht qq:[; £ 18
Concrete ? o s d 7
(1) Steel 1 e
(2) Cement (2) dE=
(3) Sand (3 W
(4) Lime (4)
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

1, Part 1 has 35 objective type guestions of
Mathematics consisting of 3 marks for each
correct response. Part IT (Aptitude Test) has 50
objective type questions conaisting of 3 marks for
each correct response. For each incorrect
responsein Part T and Part 11, one mark will be
deducted from the total score. No deduetion
from the total score, however, will be made if no
response 15 indicated for a question in the
Answer Sheet,

2. Handle the Test Booklet, Answer Sheet and
Drawing Sheet with care, as under no
circumstances (except for discrepancy in Test
Booklet Code and Answer Sheet %Ddﬂ . another
set will be provided.

3. The candidates are not allowed to do any rough
work or wriling work on the Answer Sheet. All
caleulations/writing work are to be done on the
space provided for this purpose in the Test
Booklet itself, marked ‘Space for Rough Work'
This space is given at the bottom of each page and
in 3 pages (Pages 25— 27} at the end of the
booklet.

4, Each eandidate must show on_ demand higther

Admit Card to the Invigilator.

. No candidate, without special permission of the

Superintendent  or  Invigilater, should leave

histher seat.

On completion of the test, the candidates should

not leave the examination hall without handing

over their Answer Shect of Mathematics and

Aptitude Test — Part I & 1l and Drawing Sheet of

Aptitude Test Part III to the Invigilator on

duty and sign the Attendance Sheet at the time of

handing over the same. Cases where a candidate
has not signed the Attendance Sheet the second
time will be déemed not have handed over these
documents and dealt with as an unfair means
case. The candidates are also required to put
their left hand THUME impression in the
gpace provided in the Attendance Sheet.

However, the candidates are allowed to take away

with them the Test Booklet of Mathematics and

Aptitude Test — Part T & 1T,

7. Use of Electronic/Manual Caleulator, Pager ete. is
not allowed,

&, The candidates are governed by all Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of
untair means will be dealt with as per Rules and
Regulations of the Board.

g No part of the Test Booklet, Answer Sheet and
Drawing Sheet shall be detached/folded or
defaced under any circumstances.

10 The candidates will write the Test Booklet Number
as given in the Test Booklet, Answer Sheet and
Drawing Sheet in the Attendance Sheet also.

11, Candidates are not allowed to cang’ any
textual material, printed or written, bits of
papers, pager, mobile phone, electronic
device or any other material except the
Admit Card inside the examination

hall/room.

PR AT am | 9 - .
yfer % w1 # e & 35 awfe e #

| SR W IR fU g s § | w1 (sfeh whE)

i 50 Fwqfres wva ¥ fai veis o aw ¥ fau 3 i
& 1w X i ueT 11 welE e g S g An
i & wm oig we foar wm 1 9 aw ow H o
& & FOv g few T g, @ F Am H | w2 ow

Cwm wE W sE W R Wi e ud faed W

Y, Wi gt 0 i s o 7w w5 E g
R g AmifEd 8, W @ f anen | 9 W aEw
TS WA F SR s gfer & ol F 3 g8 W (79
95 ¥ 27) & 7 2

B W W owers whadl flem w0 e weaw Wi

feard |

. i o e @ faui ammfa & f 36wl

U T A B

.qﬂmmﬁ%ﬂ,mﬁﬁﬁaﬁﬁmm—f

uyp 1 vE e vl — 9m I #1 I W
sifirefa ol — wm 100 #F g v 33 it auftafy
U W IO EEARR AW F 4 UvER € T we

| U A W F e e fE s 93 ud g
viie 7 @iz T ¥ e et wmee v @ it 3§
A1 S | adendf e A g & R % Py
Fufeafy wx ¥ fau w0 wmm uv sEvw @l | Ay,
wiemdl so v ue Ffwte wiger — W 1T 10
F T T w5 H S A #

%

i ety oftees, T et W oW

A &

C ulten o H e % foro whendf A & frad wd

fafrrdl -z frafoa 2 | emfaa wmem wdm & W@

o W bwen @ % fradl wd fafrd & seER

G |

AfPage 28




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24

